
135 + 278 

Step 1: Draw place value disks to represent both numbers. 

Step 2: Add each place value, changing ones for tens and tens 
for hundreds, if necessary. (See next page.) 
 

Hundreds Tens Ones 
   

Hundreds Tens Ones 
   

 

135 

 

278 



      4 hundreds            +               1 ten       +  3 ones   = 413 
 
Step 2: Add each place value, changing ones for tens and tens 
for hundreds, if necessary. 
 
Step 3: Count the place value disks left in each place value 
column and write the answer. 
 
 

Hundreds Tens Ones 
   

10 ones = 1 ten 

3 ones left 

10 tens = 1 hundred 

1 ten left 


